VL.155 p

ELESA Original design

H o #110°
Z85 4L H PF | |04
M

Hs (PR FARE 3 £2 B4AE, SHE, 7|5, 9Xl9f O2 sisiorE
of X&2o| 9z,
o AHAE
1o
2%, 29 Hz|
o X2l

=
O 2E ALl LEARSY AE|S, UNI 947 : 1SO 4753 (p. Al19] 7|&XtE &

134

hif

1H0
i

o

-

e

03 Y

B
D L

Elesa & ZF=Q K| LEA} q
IAE | AP D L B di d 6g | q
75031 [ VL.155/50 p-M8x25 51 34 12 23 M8 25 48
75032 | VL.155/50 p-M8x40 51 34 12 23 M8 40 52
75041 | VL.155/50 p-M10x30 51 34 12 23 M10 30 62
75042 | VL.155/50 p-M10x50 51 34 12 23 M10 50 73
75141 | VL.155/60 p-M8x30 61 38 16 25 M8 30 77
75151 | VL.155/60 p-M10x30 61 38 16 25 M10 30 82
75261 | VL.155/70 p-M10x30 69 42 18 27 M10 30 100
75262 | VL.155/70 p-M10x50 69 42 18 27 M10 50 110
75271 | VL.155/70 p-M12x25 69 42 18 27 M12 25 110
75272 | VL.155/70 p-M12x50 69 42 18 27 M12 50 135
75341 | VL.155/80 p-M12x30 82 48 19 33 M12 30 155
75342 | VL.155/80 p-M12x50 82 48 19 33 M12 50 180

Ele‘ | ELESA 2. B gof o3 B A9 ELESA EUS AT of 34 EHE Holsih





